(N/mm? (kgf/cm?))

SS400 SM490
210(2,100) 280(2,850)
1/r 18(20) I/r 16(15)
210(2,100) 280(2,850)
18 I/r 92(20 1/r 93) 16 I/r 79(15 1I/r 80)
140 0.82(1/r 18) x 1.5 185 1.2(1/r 16) x 1.5
( 1,400 8.4(1/r 20) x1.5) | ( 1,900 13(I/r 15) x 1.5)
92(93) WUUr 79(80) I/r
1,200,000 1,200,000
. x 1.5 . x 1.5
6,700 (1/r) 5,000 (1/r)
12,000,000 12,000,000
[ emon o )| s )
6,700 (1/r) 5,000 (1/r)
1 (mm(cm)) 1 (mm(cm))
r (mm(cm)) r (mm(cm))
210(2,100) 280(2,850)
I/b 4.5 I/b 4.0
210(2,100) 280(2,850)
45 1/b 30 4.0 I/b 30
140 2.4(1/b 4.5) x 1.5 185 3.8(1/b 4.0) x 1.5
( 1,400 24(l/r 4.5) x1.5) | ( 1,900 38(l/r 4.0) x 1.5)
| |
(mm(cm)) (mm(cm))
b (mm(cm)) b (mm(cm))
120(1,200) 160(1,650)
315(3,150) 420(4,200)

80




(N/mm? (kgf/cm?))

135(1,350) 55400
315(3,150)
285(2,850) 55400
(F10T) 355(3,600)
@
2
25 t 50.0 KN
50 t 100.0 kN
®3) = 0.4
= 0.3
4
x 0.1 x 0.15 D
1
2
x 0.15
L 400 25mm




=——— u (kN(EF))
(kN(EF))
u= d > i
(KN/m*(tF/m))
d = 2000 (200 )
()
(m)
(m)
(KN/m? (£F/m?))
i =286 s(/5 B s)
i =10 c(B © o
i=B ¢ C
2
40 40
-1 2
2
2m
50 50
150kN/m*(15tF/m?) 150kN/m?
(15tfF/m%)
a B
1.0 | 1.0
1.0 | 0.9
1.0 | 1.0
0.0 | 0.5
1.0 | 1.0




d (kN/mz(tf/mz))
100(10)
50(5)
0(0) | | >
0 5 10 15
(m)
(m)
30
d=13 u u (KN/m*(tF/m%))
(KN/m’ (t£/m*)) (KN/m? (tF/m?))
5 (0.5 ) 200(20)
10 ( 150(15)




B
2 2.5
B B
2
B
@
0 = 1B 0
2p
mn=—2 /1 (B )exp( tan™ )
2
0 (kN m(tf m))
m (kN m(tf m))
B (™))
(m(m))
(rad(rad))
m = ° /1 B )® 1 exp( tan™ L
2B 1 2B
a p ) e

0

3 p°



¢)

®

1.00

1.25

1.10

1.20

2

Chang




Hs o (_H)-3/4 H= HO( H y
0.3 30
e (kN/m’(kgf/em® )
HO :
(kN/m° (kgF/cn®))
HO = a 0 H= ——a 0]
0.3 30
H - m(cm)
H=[—
B
(m(cm)) \
8 KD mtemy)
4E I
0
(kN/m? (kgF/cn?))
a 0=210 (kN/m’(kgf/cm?))
(KN/m? (kgF/cn?))
a
0 [of
o(kN/m?(kgf/cn?))
4
4
N 0=2,800N(28N) 1




